ER28FE6 B lE H28.6.12

fEH B 518% 5HE K4 1 2 3 4 5 6 &t &%
10mS60M 1 1 21 gn =t 92.7 955 945 89.0 97.8 89.3 558.8
10mS60M 2 1 20miE BE 89.9 935 97.0 934 90.7 88.7 553.2
10mS60M 3 1 22K E& 920 914 914 86.7 93.6 95.2 550.3
10mS40W 1 1 33| BEHE 99.2 100.1 101.1 100.7 4011
10mS40W 2 1 35%5: FEH 1004 99.7 99.7 98.2 398.0
10mS40W 1 34iEm 5= 0.0 pNs
10mS40W 1 36 aakrrs 0.0 DNS
10mP60MW 1 2 16:8% @2 101.3 1038 1021 1028 1039 1038 617.7
10mP60MW 2 2 184F#E A 1026 1025 1032 1027 1022 1041 617.3
BP40OMW 1 2 1158 ®A 91 86 88 90 355
BP40OMW 2 2 13fF/#E s 87 86 90 90 353
BP40OMW 3 2 12% gum 86 89 85 90 350
50mP60MW 1 2 37HETF ft 100.6 998 1019 1016 1027 97.7 604.3
50mP60MW 2 1 30/ =2 989 1016 1024 1009 995 100.3 603.6
50mP60MW 3 1 33mxt 99.1 98.3 994 96.7 104.2 974 595.1
50mP60MW 4 1 46pE B2 98.8 96.9 96.5 1024 1006 98.5 593.7
50mP60MW 5 1 45mE -= 97.5 974 1014 98.6 97.6 97.6 590.1
50mP60MW 6 1 35F: #3 98.0 96.6 95.0 99.1 99.3 1018 589.8
50mP60MW 7 1 32xm BN 96.2 994 97.7 974 100.9 98.1 589.7
50mP60MW 8 1 363 &7 97.2 97.0 98.8 96.7 98.2 100.2 588.1
50mP60MW-S 9 1 4T7mE % 99.4 96.7 98.0 93.7 975 100.9 586.2 xo—~
50mP60MW 10 1 34am @y 98.8 96.6 953 1003 954 97.8 584.2
50mP60MW 11 1 3w =% 94.0 98.5 97.6 999 99.9 928 582.7
50mP60MW 12 2 36=@ 98.9 97.6 97.2 97.1 96.9 934 581.1
50mP60MW 13 1 384 s A 96.7 974 95.8 97.3 95.7 97.3 580.2
50mP60MW 14 1 37RIB LR 94.6 945 95.7 95.0 92.9 97.7 5704
50mP60MW 15 1 42 R# #%— 91.9 940 93.1 89.3 95.4 934 557.1
50mP60MW 16 1 4peE = 928 90.8 93.5 920 87.9 97.9 554.9
50mP60MW 17 1 39miE BIE 93.8 928 87.8 91.8 94.8 90.7 551.7
50mP60MW 18 1 40xk#z # 89.4 94.3 89.2 948 91.3 920 551.0
50mP60MW 19 1 43%m EB 97.7 95.1 89.9 96.2 89.7 78.3 546.9 51, 52% 8 845t
50mP60MW 20 1 44mm = 90.3 946 875 943 87.0 843 538.0
50m3X20MW 1 2 33 LmE=ARER 93 95 95 96 90 94 563
50m3X20MW 2 2 34—%kg 7 92 89 95 94 86 85 541
50m3X20MW 3 2 40maa= 83 85 93 96 89 82 528
50m3X20MW 4 2 318K fuE 85 85 95 93 81 84 523
50m3X20MW 5 2 32xkn = 91 85 92 89 60 72 489
50m3X20MW-S 6 1 488K =% 87 84 96 94 59 66 486 za0—>



